# ASYMPTOTIC BEHAVIORS OF ALTERNATIVE JENSEN FUNCTIONAL EQUATIONS-REVISITED

Jaeyoung Chung<sup>a</sup> and Chang-Kwon Choi<sup>b,\*</sup>

ABSTRACT. In this paper, using an efficient change of variables we refine the Hyers-Ulam stability of the alternative Jensen functional equations of J. M. Rassias and M. J. Rassias and obtain much better bounds and remove some unnecessary conditions imposed in the previous result. Also, viewing the fundamentals of what our method works, we establish an abstract version of the result and consider the functional equations defined in restricted domains of a group and prove their stabilities.

### 1. INTRODUCTION

The Hyers-Ulam stability problems of functional equations was originated by S. M. Ulam in 1940 when he proposed the following question [13]:

Let f be a mapping from a group  $G_1$  to a metric group  $G_2$  with metric  $d(\cdot, \cdot)$  such that

$$d(f(xy), f(x)f(y)) \le \varepsilon.$$

Then does there exist a group homomorphism h and  $\delta_{\delta} > 0$  such that

$$d(f(x), h(x)) \leq \delta_{\delta}$$

for all  $x \in G_1$ ?

One of the early theorems to be obtained is the following result, essentially due to Hyers [5], that gives an answer for the question of Ulam.

**Theorem 1.1.** Suppose that S is an additive semigroup, Y is a Banach space,  $\delta \ge 0$ , and  $f: S \to Y$  satisfies the inequality

(1.1) 
$$||f(x+y) - f(x) - f(y)|| \le \delta$$

\*Corresponding author.

© 2012 Korean Soc. Math. Educ.

Received by the editors September 12, 2012. Revised October 27, 2012. Accepted Oct. 29, 2012. 2010 Mathematics Subject Classification. 39B22.

 $Key\ words\ and\ phrases.$  Hyers-Ulam stability, Jensen equation, alternative Jensen functional equation, restricted domain.

for all  $x, y \in S$ . Then there exists a unique function  $A: S \to Y$  satisfying

(1.2) 
$$A(x+y) = A(x) + A(y)$$

for which

$$\|f(x) - A(x)\| \le \delta$$

for all  $x \in S$ .

In 1949-1951 this result was generalized by the authors T. Aoki [1] and D.G. Bourgin [2, 3]. In 1978 Th. M. Rassias generalized the Hyers' result to a new approximately linear mappings [10]. Since then the stability problems have been investigated in various directions for many other functional equations. Among the results, the stability problem in a restricted domain was investigated by F. Skof, who proved the stability problem of the inequality (1.1) in a restricted domain [11] (see [4, 6, 7, 8, 9, 12] for related results). In this paper we refine the result in [7] in both the conditions and the bounds. Also, we consider the functional equations defined in general restricted domains in a group and prove their stabilities.

## 2. Refined Results

Throughout this paper we denote by X, Y a real normed space and a Banach space, respectively. Throughout this paper, the terminology *domain* means a subset of  $X \times X$ . Let  $f : X \to Y$ , d > 0 and  $\delta \ge 0$ . In [7] the authors considered the alternative Jensen functional inequalities

(2.1) 
$$||f(x+y) + f(x-y) + 2f(-x)|| \le \delta$$

(2.2) 
$$||f(x+y) - f(x-y) + 2f(-y)|| \le \delta$$

(2.3) 
$$\left\| 2f\left(-\frac{x+y}{2}\right) + f(x) + f(y) \right\| \le \delta$$

(2.4) 
$$\left\|2f\left(-\frac{x-y}{2}\right) + f(x) - f(y)\right\| \le \delta$$

for all  $x, y \in X$  with  $||x|| + ||y|| \ge d$ .

As main results they obtained the following Hyers-Ulam stability of the inequalities  $(2.1)\sim(2.4)$  in restricted domains  $\{(x, y) : ||x|| + ||y|| \ge d\}$  under some of the additional conditions

(2.5) 
$$||f(-x) + f(x)|| \le \delta^*$$

(2.6) 
$$||f(2x) - 2f(x)|| \le \delta^*$$

for all  $x \in X$  with  $||x|| \ge d$ , where  $\delta^*$  will be given later.

**Theorem 2.1.** Suppose that  $f: X \to Y$  satisfies the inequality (2.1) and (2.5) with  $\delta^* = \delta/2$ . Then there exists a unique additive function  $A: X \to Y$  such that

(2.7) 
$$||f(x) - A(x)|| \le 8\delta + ||f(0)|$$

for all  $x \in X$ .

**Theorem 2.2.** Suppose that  $f: X \to Y$  satisfies the inequality (2.2) and (2.5) with  $\delta^* = \delta$ . Then there exists a unique additive function  $A: X \to Y$  such that

(2.8) 
$$||f(x) - A(x)|| \le 21\delta + ||f(0)||$$

for all  $x \in X$ .

**Theorem 2.3.** Suppose that  $f : X \to Y$  satisfies the inequality (2.3), (2.5) with  $\delta^* = \delta/2$  and (2.6) with  $\delta^* = 2\delta + ||f(0)||$ . Then there exists a unique additive function  $A : X \to Y$  such that

(2.9) 
$$||f(x) - A(x)|| \le 20\delta + 7||f(0)||$$

for all  $x \in X$ .

**Theorem 2.4.** Suppose that  $f : X \to Y$  satisfies the inequality (2.4), (2.5) with  $\delta^* = \delta$  and (2.6) with  $\delta^* = 3\delta + ||f(0)||$ . Then there exists a unique additive function  $A : X \to Y$  such that

(2.10) 
$$||f(x) - A(x)|| \le 24\delta + 4||f(0)||$$

for all  $x \in X$ .

In the followings, we can see that the conditions (2.5) and (2.6) are superfluous and the bounds are much smaller than those in the above results.

We call the function A satisfying (1.2) an additive function. We first prove the stability of the inequality (2.1) which refines Theorem 2.1.

**Theorem 2.5.** Let d > 0 and  $\delta \ge 0$  be fixed. Suppose that  $f : X \to Y$  satisfies the inequality (2.1) for all  $x, y \in X$ , with  $||x|| + ||y|| \ge d$ . Then there exists a unique additive function  $A : X \to Y$  such that

(2.11) 
$$||f(x) - A(x) - f(0)|| \le 2\delta$$

for all  $x \in X$ .

*Proof.* For given  $x, y \in X$ , choose a  $z \in X$  such that

$$||z|| \ge d + ||x - y||.$$

Then by the triangle inequality we have

(2.12) 
$$||-x-y|| + ||x-y+z|| \ge d$$

$$(2.13) || - x|| + ||x + z|| \ge d$$

$$(2.14) || - y|| + || - y + z|| \ge d$$

 $(2.15) ||z|| \ge d.$ 

Replacing in (2.1),  $x \to -x - y, y \to x - y + z; x \to -x, y \to x + z; x \to -y, y \to -y + z; x \to 0, y \to z$ , respectively, we have in view of (2.12) ~ (2.15),

(2.16)  $||f(-2y+z) + f(-2x-z) + 2f(x+y)|| \le \delta$ 

(2.17) 
$$||f(z) + f(-2x - z) + 2f(x)|| \le \delta$$

(2.18) 
$$||f(-2y+z) + f(-z) + 2f(y)|| \le \delta$$

(2.19) 
$$||f(z) + f(-z) + 2f(0)|| \le \delta.$$

From  $(2.16)\sim(2.19)$ , using the triangle inequality and dividing the result by 2, we have

(2.20) 
$$||f(x+y) - f(x) - f(y) + f(0)|| \le 2\delta.$$

From (2.20), using Theorem 1.1, we get the result.

We now refine Theorem 2.2.

**Theorem 2.6.** Let d > 0 and  $\delta \ge 0$  be fixed. Suppose that  $f: X \to Y$  satisfies the inequality (2.2) for all  $x, y \in X$ , with  $||x|| + ||y|| \ge d$ . Then there exists a unique additive function  $A: X \to Y$  such that

(2.21) 
$$||f(x) - A(x)|| \le \frac{3}{2}\delta$$

for all  $x \in X$ .

*Proof.* For given  $x, y \in X$ , choose a  $z \in X$  such that

$$||z|| \ge d + ||x - y||.$$

Then by the triangle inequality we have

$$(2.22) ||x - y + z|| + || - x - y|| \ge d$$

$$(2.23) ||x+z|| + ||-x|| \ge d$$

$$(2.24) || - y + z|| + || - y|| \ge d$$

Replacing in (2.2),  $x \to x-y+z, y \to -x-y; x \to x+z, y \to -x; x \to -y+z, y \to -y$ , respectively, we have

(2.25) 
$$||f(-2y+z) - f(2x+z) - 2f(x+y)|| \le \delta$$

(2.26) 
$$||f(z) - f(2x+z) - 2f(x)|| \le \delta$$

(2.27) 
$$||f(-2y+z) - f(z) - 2f(y)|| \le \delta$$

From  $(2.25)\sim(2.27)$ , using the triangle inequality and dividing the result by 2, we have

(2.28) 
$$||f(x+y) - f(x) - f(y)|| \le \frac{3}{2}\delta.$$

Now by Theorem 1.1, we get the result.

Finally we refine Theorem 2.3, Theorem 2.4.

**Theorem 2.7.** Let d > 0 and  $\delta \ge 0$  be fixed. Suppose that  $f, g, h : X \to Y$  satisfy

(2.29) 
$$||f(x+y) - g(x) - h(y)|| \le \delta$$

for all  $x, y \in X$ , with  $||x|| + ||y|| \ge d$ . Then there exists a unique additive function  $A: X \to Y$  such that

(2.30) 
$$||f(x) - A(x) - f(0)|| \le 4\delta$$

for all  $x \in X$ .

*Proof.* For given  $x, y \in X$ , choose a  $z \in X$  such that

$$||z|| \ge \frac{1}{2}(d + ||x|| + ||y||).$$

Then by the triangle inequality we have

$$(2.31) ||x - z|| + ||y + z|| \ge d$$

$$(2.32) ||x - z|| + ||z|| \ge d$$

(2.33) 
$$||-z|| + ||y+z|| \ge d$$

$$(2.34) ||-z|| + ||z|| \ge d.$$

Replacing in (2.29),  $x \to x - z, y \to y + z; x \to x - z, y \to z; x \to -z, y \to y + z; x \to -z, y \to z$ , respectively, using (2.3) and the triangle inequality we have

$$(2.35) ||f(x+y) - f(x) - f(y) + f(0)|| \le ||f(x+y) - g(x-z) - h(y+z)|| + || - f(x) + g(x-z) + h(z)|| + || - f(y) + g(-z) + h(y+z)|| + ||f(0) - g(-z) - h(z)|| < 4\delta.$$

Now by Theorem 1.1, there exists a unique additive function  $A: X \to Y$  such that

$$||f(x) - A(x) - f(0)|| \le 4\delta$$

for all  $x \in X$ . This completes the proof.

Replacing f(x) by  $2f\left(-\frac{x}{2}\right)$  and both g(x), h(x) by -f(x) in (2.29) we obtain the following.

**Corollary 2.8.** Let d > 0,  $\delta \ge 0$ . Suppose that  $f : X \to Y$  satisfies

(2.36) 
$$\left\|2f\left(-\frac{x+y}{2}\right) + f(x) + f(y)\right\| \le \delta$$

for all  $x, y \in X$ , with  $||x|| + ||y|| \ge d$ . Then there exists a unique additive function  $A: X \to Y$  such that

$$||f(x) - A(x) - f(0)|| \le 2\delta$$

for all  $x \in X$ .

Replacing f(x) by  $2f\left(-\frac{x}{2}\right)$ , g(x) by -f(x) and h(y) by f(-y) in (2.29) we obtain the following.

**Corollary 2.9.** Let d > 0,  $\delta \ge 0$ . Suppose that  $f : X \to Y$  satisfies

(2.37) 
$$\left\|2f\left(-\frac{x-y}{2}\right) + f(x) - f(y)\right\| \le \delta$$

for all  $x, y \in X$ , with  $||x|| + ||y|| \ge d$ . Then there exists a unique additive function  $A: X \to Y$  such that

$$||f(x) - A(x) - f(0)|| \le 2\delta$$

for all  $x \in X$ .

_	

## 3. Asymptotic Behaviors

In this section we consider the behaviors of the functions  $f: X \to Y$  satisfying each of the following conditions

(3.1) 
$$||f(x+y) + f(x-y) + 2f(-x)|| \to 0,$$

(3.2) 
$$||f(x+y) - f(x-y) + 2f(-y)|| \to 0,$$

(3.3) 
$$\left\|2f\left(-\frac{x+y}{2}\right) + f(x) + f(y)\right\| \to 0,$$

(3.4) 
$$\left\|2f\left(-\frac{x-y}{2}\right) + f(x) - f(y)\right\| \to 0,$$

for all  $x, y \in X$  as  $||x|| + ||y|| \to \infty$ .

As a consequence of Theorem 2.5 we have the following.

**Theorem 3.1.** Suppose that  $f : X \to Y$  satisfies the asymptotic condition (3.1) for all  $x, y \in X$  as  $||x|| + ||y|| \to \infty$ . Then there exists a unique additive function  $A: X \to Y$  such that

(3.5) 
$$f(x) = A(x) + f(0)$$

for all  $x \in X$ .

*Proof.* The condition (3.1) implies that for each  $n \in \mathbb{N}$ , there exists  $d_n > 0$  such that

(3.6) 
$$||f(x+y) + f(x-y) + 2f(-x)|| \le \frac{1}{n}$$

for all  $||x|| + ||y|| \ge d_n$ . By Theorem 2.5, there exists a unique additive function  $A_n: X \to Y$  such that

(3.7) 
$$||f(x) - A_n(x) - f(0)|| \le \frac{2}{n}$$

for all  $x \in X$ . Replacing n by positive integers m, k in (3.7) and using the triangle inequality with the results we have

(3.8) 
$$||A_m(x) - A_k(x)|| \le \frac{2}{m} + \frac{2}{k} \le 4$$

for all  $x \in X$ . From the additivity of  $A_m$ ,  $A_k$ , it follows that  $A_m = A_k$  for all  $m, k \in \mathbb{N}$ . Letting  $n \to \infty$  in (3.7), we get the result.

Similarly, using Theorem 2.6, Corollary 2.8 and Corollary 2.9 we have the followings. **Theorem 3.2.** Suppose that  $f : X \to Y$  satisfies the asymptotic condition (3.2) for all  $x, y \in X$  as  $||x|| + ||y|| \to \infty$ . Then f is an unique additive function.

**Theorem 3.3.** Suppose that  $f: X \to Y$  satisfies the asymptotic condition (3.3) or (3.4) for all  $x, y \in X$  as  $||x|| + ||y|| \to \infty$ . Then f(x) - f(0) is an additive function.

#### 4. STABILITY OF THE EQUATION IN RESTRICTED DOMAINS OF A GROUP

Throughout this section we denote by G an abelian group, e the identity element of G, Y a Banach space,  $f: G \to Y$  and U a subset of  $G \times G$  with a certain condition. We consider the alternative Jensen functional inequalities

- (4.1)  $||f(xy) + f(xy^{-1}) + 2f(x^{-1})|| \le \delta$
- (4.2)  $||f(xy) f(xy^{-1}) + 2f(y^{-1})|| \le \delta$
- (4.3)  $\left\|2f(x^{-1}y^{-1}) + f(x^2) + f(y^2)\right\| \le \delta$
- (4.4)  $\left\|2f(x^{-1}y) + f(x^2) f(y^2)\right\| \le \delta$

for all  $(x, y) \in U \subset G \times G$ .

We will impose some conditions on *U*. We denote by  $G \times G = \{(a_1, a_2) : a_1, a_2 \in G\}$  the product group, i.e., for  $a = (a_1, a_2), b = (b_1, b_2) \in G \times G$  we define  $ab = (a_1b_1, a_2b_2), b^{-1} = (b_1^{-1}, b_2^{-1})$ . For a subset *H* of  $G \times G$  and  $(a_1, a_2) \in G \times G$ , we define  $(a_1, a_2)H = \{(h_1a_1, h_2a_2) : (h_1, h_2) \in H\}$ .

For given  $x, y \in G$  we denote by  $P_{x,y}, Q_{x,y}$  the set of points in  $G \times G$ ,

$$P_{x,y} = \{(e, e), (x, x^{-1}), (y, y), (xy, x^{-1}y)\},\$$
$$Q_{x,y} = \{(x, x^{-1}), (y, y), (xy, x^{-1}y)\},\$$
$$R_{x,y} = \{(e, e), (x, e), (e, y), (x, y)\}.$$

The set  $P_{x,y}$  and  $Q_{x,y}$  can be viewed as vertices of a parallelogram in  $G \times G$  and  $R_{x,y}$  can be viewed as the vertices of a rectangle in  $G \times G$ .

**Definition 4.1.** Let  $U \subset G \times G$ . We introduce the following conditions (C1), C2) and (C3) on U: For any  $x, y \in G$ , there exists a  $z \in G$  such that

(C1) 
$$(e,z)P_{x,y} = \{(e,z), (x, x^{-1}z), (y, yz), (xy, x^{-1}yz)\} \subset U,$$
  
(C2)  $(z,e)Q_{x,y} = \{(xz, x^{-1}), (yz, y), (xyz, x^{-1}y)\} \subset U,$ 

$$(C3) \quad (z, z^{-1})R_{x,y} = \{(z, z^{-1}), (xz, z^{-1}), (z, yz^{-1}), (xz, yz^{-1})\} \subset U,$$

respectively.

The sets  $(e, z)P_{x,y}$ ,  $(z, e)Q_{x,y}$  and  $(z, z^{-1})R_{x,y}$  can be understood as the translations of  $P_{x,y}, Q_{x,y}$  and  $R_{x,y}$  by (e, z) and (z, e) and  $(z, z^{-1})$ , respectively.

We refer the reader to [4] for several examples of the sets U satisfying some of the conditions (C1), (C2) and (C3).

**Theorem 4.2.** Let  $U \subset G \times G$  satisfy the condition (C1) and  $\delta \geq 0$ . Suppose that  $f: G \to Y$  satisfies (4.1) for all  $(x, y) \in U$ . Then there exists a function  $A: G \to Y$  satisfying the Cauchy equation

$$A(xy) - A(x) - A(y) = 0$$

such that

(4.5) 
$$||f(x) - A(x) - f(e)|| \le 2\delta$$

for all  $x \in G$ .

*Proof.* For given  $x, y \in G$ , choose a  $z \in G$  such that

$$(e,z)P_{x^{-1},y^{-1}} \subset U.$$

Replacing in (4.1), (x, y) by  $(x^{-1}y^{-1}, xy^{-1}z), (x^{-1}, xz), (y^{-1}, y^{-1}z), (e, z)$ , respectively, we have

(4.6)  $\|f(y^{-2}z) + f(x^{-2}z^{-1}) + 2f(xy)\| \le \delta$ 

(4.7) 
$$||f(z) + f(x^{-2}z^{-1}) + 2f(x)|| \le \delta$$

(4.8) 
$$\|f(y^{-2}z) + f(z^{-1}) + 2f(y)\| \le \delta$$

(4.9) 
$$||f(z) + f(z^{-1}) + 2f(e)|| \le \delta.$$

From  $(4.6) \sim (4.9)$ , using the triangle inequality and dividing the result by 2, we have

(4.10) 
$$||f(x+y) - f(x) - f(y) + f(e)|| \le 2\delta$$

From (4.10), using Theorem 1.1, we get the result.

**Theorem 4.3.** Let  $U \subset G \times G$  satisfy the condition (C2) and  $\delta \ge 0$ . Suppose that  $f: G \to Y$  satisfies (4.2) for all  $(x, y) \in U$ . Then there exists a function  $A: G \to Y$  satisfying the Cauchy equation

$$A(xy) - A(x) - A(y) = 0$$

such that

(4.11) 
$$||f(x) - A(x)|| \le \frac{3}{2}\delta$$

for all  $x \in G$ .

*Proof.* For given  $x, y \in G$ , choose a  $z \in G$  such that

 $(e,z)Q_{x,y^{-1}} \subset U.$ 

Replacing in (4.2), (x, y) by  $(xy^{-1}z, x^{-1}y^{-1}), (xz, x^{-1}), (y^{-1}z, y^{-1})$ , respectively, we have

(4.12) 
$$||f(y^{-2}z) - f(x^{2}z) + 2f(xy)|| \le \delta$$

(4.13) 
$$||f(z) - f(x^2 z) + 2f(x)|| \le \delta$$

(4.14) 
$$||f(y^{-2}z) - f(z) + 2f(y)|| \le \delta$$

From (4.12)~(4.14), using the triangle inequality and dividing the result by 2, we have

(4.15) 
$$||f(xy) - f(x) - f(y)|| \le \frac{3}{2}\delta.$$

From (4.15), using Theorem 1.1, we get the result.

**Theorem 4.4.** Let  $U \subset G \times G$  satisfy the condition (C3) and  $\delta \geq 0$ . Suppose that  $f: G \to Y$  satisfies (4.3) for all  $(x, y) \in U$ . Then there exists a function  $A: G \to Y$  satisfying the Cauchy equation

$$A(xy) - A(x) - A(y) = 0$$

such that

(4.16) 
$$||f(x) - A(x) - f(e)|| \le 2\delta$$

for all  $x \in G$ .

*Proof.* For given  $x, y \in G$ , choose a  $z \in G$  such that

$$(z, z^{-1})R_{x^{-1}, y^{-1}} \subset U.$$

Replacing in (4.3), (x, y) by  $(x^{-1}z, y^{-1}z^{-1}), (x^{-1}z, z^{-1}), (z, y^{-1}z^{-1}), (z, z^{-1})$ , respectively, we have

(4.17) 
$$\|2f(xy) + f(x^{-2}z^2) + f(y^{-2}z^{-2})\| \le \delta$$

(4.18) 
$$||2f(x) + f(x^{-2}z^2) + f(z^{-2})|| \le \delta$$

(4.19) 
$$\|2f(y) + f(z^2) + f(y^{-2}z^{-2})\| \le \delta$$

(4.20) 
$$||2f(e) + f(z^2) + f(z^{-2})|| \le \delta.$$

From (4.17)~(4.20), using the triangle inequality and dividing the result by 2, we have

(4.21) 
$$||f(xy) - f(x) - f(y) + f(e)|| \le 2\delta.$$

418

From (4.21), using Theorem 1.1, we get the result.  $\Box$ 

**Theorem 4.5.** Let  $U \subset G \times G$  satisfy the condition (C3) and  $\delta \geq 0$ . Suppose that  $f: G \to Y$  satisfies (4.4) for all  $(x, y) \in U$ . Then there exists a function  $A: G \to Y$  satisfying the Cauchy equation

$$A(xy) - A(x) - A(y) = 0$$

such that

(4.22) 
$$||f(x) - A(x) - f(e)|| \le 2\delta$$

for all  $x \in G$ .

*Proof.* For given  $x, y \in G$ , choose a  $z \in G$  such that

$$(z, z^{-1})R_{x^{-1}, y} \subset U.$$

Replacing in (2.3), (x, y) by  $(x^{-1}z, yz^{-1}), (x^{-1}z, z^{-1}), (z, yz^{-1}), (z, z^{-1})$ , respectively, we have

(4.23) 
$$\|2f(xy) + f(x^{-2}z^2) - f(y^2z^{-2})\| \le \delta$$

(4.24) 
$$\|2f(x) + f(x^{-2}z^2) - f(z^{-2})\| \le \delta$$

(4.25) 
$$\|2f(y) + f(z^2) - f(y^2 z^{-2})\| \le \delta$$

(4.26) 
$$||2f(e) + f(z^2) - f(z^{-2})|| \le \delta.$$

From  $(4.23)\sim(4.26)$ , using the triangle inequality and dividing the result by 2, we have

(4.27) 
$$||f(xy) - f(x) - f(y) + f(e)|| \le 2\delta.$$

From (4.27), using Theorem 1.1, we get the result.

Let G = X be a normed space and let  $U_{p,q} = \{(x, y) : x, y \in X, ||px + qy|| \ge d\}$ . Then  $U_{p,q}$  satisfies (C1) if  $q \ne 0$ , (C2) if  $p \ne 0$  and (C3) if  $p \ne q$ . Thus, as direct consequences of above results we have the followings.

**Corollary 4.6.** Let d > 0,  $q \neq 0$ . Suppose that  $f : X \to Y$  satisfies the inequality

(4.28) 
$$||f(x+y) + f(x-y) + 2f(-x)|| \le \delta$$

for all  $x, y \in X$ , with  $||px + qy|| \ge d$ . Then there exists a unique additive function  $A: X \to Y$  such that

(4.29)  $||f(x) - A(x) - f(0)|| \le 2\delta$ 

for all  $x \in X$ .

**Corollary 4.7.** Let d > 0 and  $p \neq 0$ . Suppose that  $f : X \to Y$  satisfies the inequality

(4.30) 
$$||f(x+y) - f(x-y) + 2f(-y)|| \le \delta$$

for all  $x, y \in X$ , with  $||px + qy|| \ge d$ . Then there exists a unique additive function  $A: X \to Y$  such that

(4.31) 
$$||f(x) - A(x)|| \le \frac{3}{2}\delta$$

for all  $x \in X$ .

**Corollary 4.8.** Let d > 0,  $p \neq q$ . Suppose that  $f : X \to Y$  satisfies

(4.32) 
$$\left\|2f\left(-\frac{x+y}{2}\right) + f(x) + f(y)\right\| \le \delta$$

for all  $x, y \in X$ , with  $||px + qy|| \ge d$ . Then there exists a unique additive function  $A: X \to Y$  such that

$$||f(x) - A(x) - f(0)|| \le 2\delta$$

for all  $x \in X$ .

**Corollary 4.9.** Let d > 0,  $p \neq q$ . Suppose that  $f : X \to Y$  satisfies

(4.33) 
$$\left\|2f\left(-\frac{x-y}{2}\right) + f(x) - f(y)\right\| \le \delta$$

for all  $x, y \in X$ , with  $||px + qy|| \ge d$ . Then there exists a unique additive function  $A: X \to Y$  such that

$$||f(x) - A(x) - f(0)|| \le 2\delta$$

for all  $x \in X$ .

## Acknowledgment

The referees have reviewed the paper very carefully. The authors express their deep thanks for the comments. The first author was supported by Basic Science Research Program through the National Research Foundation of Korea(NRF) funded by the Ministry of Education, Science and Technology(MEST)(2012008507).

#### References

 T. Aoki: On the stability of the linear transformation in Banach spaces. J. Math. Soc. Japan 2 (1950), 64-66.

- D.G. Bourgin: Class of transformations and bordering transformations. Bull. Amer. Math. Soc. 57 (1951), 223-237.
- 3. \_\_\_\_\_: Multiplicative transformations. Proc. Nat. Academy Sci. of U.S.A. **36** (1950), 564-570.
- 4. J. Chung, D. Kim & J.M. Rassias: Stability of Jensen-type functional equations on restricted domains in a group and their asymptotic behaviors. *Journal of Applied Mathematics*, Volume 2012, Article ID 691981.
- D.H. Hyers: On the stability of the linear functional equations. Proc. Nat. Acad. Sci. USA 27 (1941), 222-224.
- S.M. Jung: Hyers-Ulam stability of Jensen's equation and its application. Proc. Amer. Math.Soc. 126 (1998), 3137-3143.
- J.M. Rassias & M.J. Rassias: Asymptotic behavior of alternative Jensen and Jensen type functional equations. *Bull. Sci. Math.* **129** (2005), 545-558.
- 8. \_\_\_\_: On the Ulam stability of Jensen and Jensen type mappings on restricted domains. J. Math. Anal. Appl. 281 (2003), 516-524.
- J.M. Rassias: On the Ulam stability of mixed type mappings on restricted domains. J. Math. Anal. Appl. 276 (2002), 747-762.
- Th.M. Rassias: On the stability of linear mapping in Banach spaces. Proc. Amer. Math. Soc. 72 (1978), 297-300.
- F. Skof: Sull'approssimazione delle applicazioni localmente δ-additive. Atii Accad. Sci. Torino Cl. Sci. Fis. Mat. Natur. 117 (1983), 377-389
- F. Skof: Proprietá locali e approssimazione di operatori. Rend. Sem. Mat. Fis. Milano 53 (1983), 113-129.
- 13. S.M. Ulam: A collection of mathematical problems. Interscience Publ., New York, 1960.

<sup>a</sup>Department of Mathematics, Kunsan National University, Kunsan 573-701, Republic of Korea

Email address: jychung@kunsan.ac.kr

<sup>b</sup>Department of Mathematics, Kunsan National University, Kunsan 573-701, Republic of Korea

 $Email \ address: ck38@kunsan.ac.kr$